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lV Semester B.Com. Examination, AugusUSeptember 2823
(CBCS) (2015-16 and Onwards)

(Repeaters)
COMMEHCE

Paper - 4.4: Cost Accounting

Time : 3 Hours Max. Marks : 70

lnstruction : Answer should be written completely either in English
or Kannada.

SECTION - A
eForl - o

1. Answer any five sub-questions. Each sub-question carries two (2) marks : (5x2=10)

^r-J.--JJ^ *J- .--+ :+--,: .^-)..: J o .^-) :j-! \Jir r..^j).J\ -LUJoq)(^)vtJUJi arCJ.l ;-;--;irl:/) : -lAr'. Ae .L;-J-,)/\ eJaC,al 17CO/\itJ.

a) What is meant by machine hour rate ?

cJ:09 dou: Cd;:ioei: ?

Give the meaning of semi-variable cost.
cp^$.i -'11oJ {rl* g*-{J. - "FvvqQ WV:/(i i^J6iU!] .J(/:.]l incJ\j Cw(L"ts,

What are direct materials ? Give examples.

i,3.? --i:h. i1+oCdei*' ? y;ct dd- i s&.

What is nBC anEiysis ?

ABC ;5_st#;:c5cei5 ?

What is ldle time ? Mention two reasons.
J J-- ! )-)- 

^J- - --)J-J- - - JJ- 
-J^^J-JJ- 

- ^acJ-GJl :Jv(J rurJ--j !;-CJQ(IJJ -a c'lwC^9- UrC,L':/lYl.r'J c"."C9.
1

Define overheads.
{-o".. -+DJ-)J\ 

- 
r- ^ 9jl^,r \ \^, )J (,\)C! 4,1, ).Js.cLlc,aJ-.J.

What is notional cost ?

ruaig*E;d ;cCoe& ?

b)

c)

d)

e)

q)

P.T.O.
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SECTION _ B
eFDd- t,3

Answer any three questions. Each carries six marks :

cindmddra ah/aEb dUi,+rt w$ox. de ddf 6ecddd; :

(3x6='

2' standard time allowed for a Job is 15 hours, at the rate of T 50 per hour, actuartime saved by worker is 3 hours. calculate his earnings under Halsey systemand Flowan plan System.

,::,T,,T3redd* {e dcs3d T 50 dcd 15 rlcddd aiidr$ddlcdoiaioci:d:.
'i"'r^;oorrilo, s dccdd iiaio$d.qlhnin ercg:,el .*md^,se Soecir oJ,oeadcj:
duad t:#.i deOc$d1e{ m*"

3' From the following information, calculate Eoe and number of orders to beplaced in a year.

a) Quarterry consumption of materrars 2,000 units.
b) Cost of placing one order t 50.

c) Cost per unit t 40.

d) Storage and carrying cost B% of inventory.
* ddnd d>r,€os:cd rrd E:ced SgIQ*dn dirc._;rdiesdedddib
c-. orlnqiajedJ o c?.rCri: dc d:S. G 3L. o.

a) d_inid idd_.ri:r :_9j 2,000 :::?a__-;i^j:.
b) ;:-cC: sitg id; monesrbC a)zd:r { S0 .

c) ds +:"BdC d{d $zd:r t 40.

d) mB& mdo a;rBSd dq 8% auin:* :l:s.
4' From the foltowing information compute a machine hour rate of MachineNo. 50 for the month of May.

Cost of machine T 32,000.
Estimated scrap value T 2,000. '

Effective working life 10,000 hours.
Repairs for life of machine T 2,500.
Standing charges for the month of May t 400.
Power consumed by maehine at { 0.30 per unit t 600.
The machine consumes I0 units of power per hour.
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s ddnd d>a,ccs.:cd c3:cd ic*i 50 d oi:cd, doui dddrb abe,gcddo_dcd:bacl:o:
cJ:c$C z"sldPe-:, T 32,000.

dra& md: (qr) dd t 2,000.

ato$C deaoode de;i '10,000 rlos3rld.:.

cJ:c$C deaade C:_$_c3:d1 { 2, S00.

d:e €orld xEcer at$rd*t T 400.
w

ol:o6,d cqd a;df T 0.30 d,e c$"oc"lupd z"ul* T 600.

*:o$d dcu3d 10 c3:.roitr aeicdd€cld: Hdld:dd.

5. Calculate total factory cost and factory cost per unit from the following
information.

Number of units of raw materials consumed

Cost of material consumed

Direct waEes

Direct expenses

Factory O/Hs

t
10,000 units

1,00,000

50,000

30,000

1,20,000

Opening stock of work-in-progress (2000 units) 60,000

Closing stock of work-in-progress (3000 units) ?

bui: trooa d{.;t* !,9 ci}tti:'d d*ru-ora dqdd}dddcd dDaeci:od e,rd* d;a :

t
drq d-g Xd; z;ddoi-- i c,irot $€ n9 dcai

udd*>C dzCI dd;dd dzi,+

:loi irr nnlv\v J/wqgv

1^) 1^)
(w\ v ww

a

*, a+: *'"": nszi:1\v_I 19VUs C^,l.r\ t/ (r, l\J-
9l -< rl

d,dec$eJ$J md-d ,sdc*,B caecb (2000 oJ:nir.r,dd:)

i'dgoJ:E$d add ecBC: eDeib (9000 ol:oilo;fdd:)

Briefly explain the objectives of cost accounting.

ad dd,mdd ucdedd.Jd: dosimR edo,ri.lr i t '1 -*t'r---"--

10,000 oi:,t&e,s.dd;

1,00,000

50,000

30,000

1,20,000

60,000

?

6.

lil

I)
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SECTION _ C
6a+rJ
i^r.Pel l - ,iJ

Answer any three questions. Each carries 14 marks :

I lllllll llllt lllt tilll ililt i

(3x14=i

which is purchased from the

in respect of the transactions

cn$mCdo d)/oe {#ed yrdoi. ds ddJ 14 eroddd;:

7. MGN Ltd. uses copper wire as a raw material

market. The following particulars are available
for January 2023:

Jan. 1 Opening balance 300 kg at t 25 per kg.

Jan. 3 Purchased 500 kg at t 26 per kg.

Jan. 4 lssued 22A kg

Jan. 10 lssued 44Akg

Jan. 20 Purchased 490 kg at t 23 per kg

Jan. 25 lssued 300 kg

Jan.27 surplus 20 kg returned to store out of quantity issued on Jan. 4

There was a shortage of 25 kg on Jan. 25.

Prepare stores ledger for these transactions under LIFO and FIFO methods.

MGN OiJsd 5Jia .; iv-i ::1=-=ii::: ir i-:;=r3oiJo_$oeo dJiGei_
ry:J:{R O/]Da i J- ^j1 -^ +.r: 4__ - - : _-_: .clNi^JU Z-V1O U LJ9: -i:"J' y, O:rl I a,;*,: - 

:. -_: '- .
J:

xddo 1 udcpd ercpd300 d.d. gg =.:.i { 25

w.jdo 0 aloeo 500 d.d. ire d.d.ri { 26

xddo 4 &ead 220 E.c.

zii;D 10 ceGu 440 t.x.

addo 2o sroeo 490 d.c. qs d.d.ri T 23

xd#o 25 &ead goo d.d.

xi"db27 ::Qrmr20 ii.d.3$CJ, aiSb 4 Ja-::=:-:::t *:3u:it=frr.
Oopcd 25 xdCoci:ceJ: 25 ii. C. daabclDR..

dr C;ee;,oc dn&,goi:od, FIFO d,:d,: LIFO id.9:;:e..ii!:ni srgC..dJ dc$ie&.
w'L
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cB _ 267I' From the following, you are required to carcurate the earnings of a worker fora week under:

a) Straight piece rate system.

b) Taylor,s differential piece rate system.
c) Halsey premium plan.

d) Rowan premium plan.

Weekly working hours 48
Hourly wage rate T 30

Piece rate per unit t 12

Normal time allowed per piece 12 minutes
Normal output per week 240 pieces
Actual output for the week 300 pieces.
Ditferentiar piece rate B0% of piece rate, when output is berow normar and120% of piece rate when output above normar.
$ dddcd ilcddeoc dsinadd mdd do*ci:a5 dcc&Bc*o.
a) i..d dJc6: dd sd.9cJ:cd.

b) Cee-:cnCdd aafr d;od: Cd dCecxod
c) md .geA:c$o ojoeedcj:od aid:
d) &eeCir $ea.:oj:c o3oee;Cctod.
l.n,z{: 

-J-J 
+^.1wvL*/ wir..iu,r 6lJ{;j ;iC;SiiV;48

rlcoiri dCIe di T g0

de cilo&or *cd: dd t 12

$S d:cari ieacbC ="d"q iu$o$ j 2 Cerd
4e mo{ xaC>.i, wea*pai 240 d)oCdqfu.
l,cYs* car-JJ -iJ.ui^rli_^i uJsi;I mUt 300 *c6dgJ_:.
ilad d:cc in rr. d;;;ro **u dcd:aa.,,,d)cb, w-adcioarr :ris-?
erua ddn od d-aiJ r {0_d e. 1 2 0 Ccd d, c d Cde ai:, d d. d;;;;il' ffiffi:odrd, eruerddnou uzopqe_ wqrl^aJ, ou' -

l)
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9. From the following, prepare

per Financial Accounts :

i fitilt ililt tIlI ililI ililt ffit lill

Staternent calculate profits as

-6-

a Reconciliation

a) Net profit as per costing records

b) Works overhead under recovered in costing

c) Office overheads recovered in excess

d) Depreciation charges in financial records

e) lnterest received but not included in costing

f) lncome tax provided in financial books

g) Bank interest credited in financial books

h) Store adjustment credited in financial books

i) Depreciation of stock charged in financial books

j) Depreciation recovered in costing

a) ;ZJ im-3JJUJ=, att-)n+ a.^<r-r-? rTc?, J5 L"?"t" rv\-wLJjJ v!(,

T

1,72,m

3,1n

1,7m

1 1,000

9,000

40,300

750

475

6,750

12,300

c)

d)

e)

f)

s)

h)

i)

i)

ii+nd idJrlicc ancarti Ji;i') s3lxo^, ds?E-:iJ ud*a1; ril- =i5+1
dcd;aoaoO;O:

- 
.- 

-)- 
J-9 - J--J J-

wuwr^^J .lryL^:l,J\ /CA,)' Uw

udpd ndrdddild#* eodran mdxi: idCIdrJ,-
draraic C{dde* *,o oiga n&d iddc,

zJG &-rdiJxrm , udU dC i,rrmai gd,i:t5;a r:StiUJi ;&; .5 ;' zi' - - i- i-.:- cr

deaoxb -*;{dde_e"dnde> ncbd er6} c) dori

dmaei"o C{dde_ ed,t ddc:do cc d:C :J:.. c i i i.J &-
JJ -- *

6r:a,i^: dlddg_Creil; GEc a'.rcarti xin *;;ac6C>
dsaiJ dJddqdob&dJi mer: msCr its+

t
1,72,40A

3,1 20

1,700

1 1,000

8,000

40,300

750

475

6,750

12,300-€"J - 
--^r\ -.-Jt.\ 

o ^JJ J-9. )-1 )r-;c^J(t a-liF vvJ c./:^]UJ'{J tuU(JU. '}-'G9(JO-, ilroi-'+ :. +

.;
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cB _ 267" Flm,5;:fffi,:'ffi,o;fi?ffi:ilT;ctured and sord 1000 machines in2022

cost of materials T t
wages prid 

"'o'o 80'000 Rent and rates 10,000
Factory expenses '':?'9?? 

selling expenses 30,000
Salaries 

;, roEiD 50,000 General expenses 20,000
rhe companv prans to manura1,i,! l?Xolil".tn,r"s in 2023 ,rr r,._1ff#,.::to submit a statement strowing the price to 

"rrn 
a profit of 10"hon sellingprice' The fo'owing additionri ,ntormation is given to you :a) price of materiar wirr rise ii zaxon previous price.b) Wage will rise by S"/o. 

-r

t' 
f;t;?nexpenses 

will rise in proportion to the combined cost of materiars
d) Selling expenses per unit will remain unchanged.

13-T::1e^e-nses 
will remain unaffected by risJ in the output"

5;A' : * 

=il 
*};ffi# 22 d a^i, 0 00 ci:c g dsdr dcD oa an o"o *

raaiR,lv;::- T 
, \\ t

r.czi"__ _^ -., 80,000 zaarl uid: Cd

:-i:::: : 1,20,000 *mu:*XJn*, 10,000

oeoJwi :,:-j ;-5jiigJ .^'.r",", ::""1* -c'-- 30,000
:io=J-l--.4\e:Jr Y_ 

.- :_ 
:: ?go 

_si, ce*rd.r:

dcdi::; 2023 -a j ena^r.^r-uo'ooo 
arcni 

JL^,vr /)vJ 20'000

de.10;:i=r,;;;';i3:*'3-1-'pi*nosu-'tt&g7droo.o""ff 3:30
*r.--?"- c -: ' a -*$Qdcho&, ****o*r*u*;, J**rr(,}is(,3;]tl*. 

,r, 
o ' ----aS 

{
a) al*n;e :1.::.1_. 3ccftd dxraod 20% sodcDn*dd.b) d"oOrv: 5eo J* ;od*nnd:d"ei
c) ilsJ-r-J.. *rJ D;irry *.ri *:* z,ui:*cucr: seird ddood rodolDrbddd) dla:. =lrr 1.s *rrr-ri avc ;ar*qiclg;. 

*""'I so,os ;)odoi r
e) trr.;Jf. ag:g-;C"r, ?dd a;edJrdd z,or:*d,o$dq1*ea** q%.

H:::l:J.',.iffi: bv cost accountins ? Exprain the fundions and rimftations

;*;==u 
i*rdte ;cdu:d: ? =q {dr,,j)isrd#* eo;c- d#: a;rrr tusdsj.f:vjJuiv. "-- we, Le


